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1. If the number 413283P759387 is
divisible by 13, then what is the value
of P?

fa) 3
B &6
o) 7

{@ 8

2. What is the remainder when 21700000 .
divided by 77

fa} 1
fb) 2
fel 4

fdf &

3. How many pairs of (x, ¥) can be chosen
from the =zet {2, 3 6 &9 such that

X ¥ -2 whers X#Fy?

y x
{a) Zero
() One
{e) Two

{d} Three

XNWE-T-MTK/50A

www.studycampus.in

4. Consider the pairs of prime numbers
[, n} between 50 and 100 such that
m-n=%06 How many such pairs are
there?

fap 2
(b} 3
fef 4

fd} 5

BE. How many terms are there in the
following product?

{e; +og +og + oy tog)

fa} 15
(5} 30
fc) 45

fdj &0

6. What is the remainder when 2727 — 1527
is divided by 67

fal O
1
fcl 3

{dr 4

| P.T.O.
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F. To+b+e=0, ther which of the bllowing 9., What iz the unit digit in the expansion
are correct? of 67327

1. a%+53%+¢% =2ahc
2. a?+82 42 = ~2ab + be + o) ek

3. e+ w2 = _dabla+ by

by 3
Select the correct answer using the code
giVEn belowsr. irﬂ,l i
fzi 1 and 2 only fd) 9

fbt 2 and 3 only
10. What is the value of x, if
fei 1 and 3 only

b-_l-"u'[bz —2bx aligD
i) 1, 2 and 3 b-+b?% —2bx
B. If
ab
fa) i@+ b
o J39+2+.3g-2
J3q+2-3q- 2
2ob
; 2 i fa+ 1}
then what is the valueof p= —Jpg+ 27
faj 0O 5 2ab
i« e ?
B 1
fo} 2
)"
fdy 3 ja+b)
XVWS-T-MTE /S04 5 [ B.T.C.
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11. The expressign 13. If £+—b —a+b and =
a

[x? - Yx? —9x +14)
Ix.? +x+1}[x2 =8Bx+ T

fat
simplifies to -
o x-3 'y
(B (x-3 {c)
fc (x=7) id}
fdt {x+2)

y

e
what is o~ —
a

~2

-1

0

al

M 2, then
b?

14. If (x — K} is the HCF of x* +ax+b and

2

X
12, What should be added to — M8 ———
{x =2)(x~4)
to get 2_2::4:—;"':- - o fa)
(x 5x+6:_llx 4)
1
? = (x? - Tx+12)
(b}
1
. b e DOE L
o (x2 + 7x+12)
ic)
fc} ;
x2 —Tx-12
fred] o ERlle |
(x% +7x-13 fd)
XVWS-T-MTK/B0A T
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d+b
o4+ a

cC+a

+ cx + d, then what is the value of K?

[ B T.O,
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15. Consider the following statements : 18. For what intepral value of x ia

1. If x is directly proportional te = and 12
Y is directly proportional to 2, then -__ 6 3
{xg - yE] is directly proportional 7_ 3
to 22, o-x
2. I x is inversely proportisnal to =z () 4
and y is inversely proportional to =,
then [xyy) is inversely proportional b} 3
to 22,
_ fe) 2
Which of the above statements is/are
correct? g 1
fa} 1 only 19. If x{x — 1) {x —2) (% — 3 + 1 = k2, then which
{&} 2 only cne of the following is a possible
{) Both 1 and 2 expression for & ?
{d) Neither 1 nor 2 (o} x? —3x+1
16. What is the HCF of x% - 19x+ 30 and (b} x* -3x-1
x2 -5x+67

fe) x2+3x-1
fa) {x+2)(x-3)

®) (x-2x+3 @ x*-2x-1
e (x+2x-1
i 20. What is
fd) ix-3ix-2) il 1
i T e +—.—.—
befo-Bila~g cab-db-a
17. What is 3 1
Bx 4x x+l x~-1 ablc-ajic—b)
A + s =
1-x% x24+1 x-1 x+1
equal to?
equal to?
@ 0 fal a+b+c
(B 1 ik, 1
o 2 fci ob+beo+on
fd} 4 fdi O
XVWE-T-MTE/50A o9 [P.T.O.
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21. For how many real values of k is 25. 4x? +12x2 — x - 3 is divisible by
Gkx? + 12kx - 24x + 16 a perfect sguare

for every integer x 7 fo} {2x+1) only
. e (b} 2x-1j only
B One
fo} Both 2x + 1) and [2x -1
fc} Two
{d) Four {d} HNeither 2x+ 1) nor (2x-1)
22, M. x+%=3 then what is x? - L 26. Which one of the following fractions wil
x 2 x have minimum change in its value if 3 ig
equal to? added to both the numerator and the
195 denominator of all the fractions?
(e 16
2
@) -
B 355 3
16
<)
625 b =
“ e 4
fdf © 4
fc) 5
23. If the equation 4x? -2kx + 3k =0 has
equal roots, then what are the values 5
of k? i =
fa) 4, 12
fb) 4, 8
2T. Let the averape score of a class of
fcj 0, 12 boys and girls in an examination be p.
i 0,8 The ratio of boys and pirls in the class
’ is 3: 1. If the average score of the boys is
24. If the sum as well as the product of the {tfl; l}f ;:: 1 wilghig thie apepuiEdss iz iof
roots of the equation pr? —6x+g=0 =
is 6, then what is [(p + 4] equal to? fap (p-1)
a} 8
™ o) (p-2
B T
Y el (p-3
{d) 5 (@ p
IVWS-T-MTK/B50A 11 {P.T.O.
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28. The incomes of A, Band Cate in the ratio 3l. A trader gives successive discounts of

7:9:12 and their expenditures are in 20%, 10% and 5% respectively. What is
the ratio 8:9:15. If A's saving is one- the overall discount?
fourth of his ineome, then the ratio of L
savings of A, B and C is s, e
{bi 31-6%
{a) S56G:9G: 60
fo 32:8%
fbj 99:56G; 69 {df 35%
fe} 69;56:99 32. A sum of money was invested at simple
(@ 99:69:56 interest at a certain rate for 5 years.

Had it been invested at a 5% higher
rate, it would have fetched ¥ 500 more.

29. A train 200 m long passes a platform What was the principal amount?

100 m long in 10 seconds. What is the fap ¥2,000
speed of the train?

fbj ¥ 1,800
faf 40 mfs fop ¥ 1,600
B 30 m/fs fd) ©i1,200
fc) 25 mfs 33. The difference bebwsen the compound
intarest [compounded annually) and the
{d) 20 mfs simple interest on a certain sum of

money at 12% per annum for 2 yvears

ie ¥ 72, What is the principal amcunt?
a0, 1f

fa) P6,500
Ihge olgly - Al Sl o9 A
1x2 2x3 3x4 i+l 100 fei V3,500
{d} ®5,000

then what is the value of n 7 ]
d4. A train travels 600 km in 5 hours and the

next 900 km in 10 bours. What is the
fa) 98 average spesd of the train?

fa) 80 kmj/hr

fb) 99
®) 90 km/hr
b fcj 100 km/hr
[ 101 @} 120 km/hr
XVWS-T-MTK/50A 13 [ P.T.O.
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35. Walking at %th of his zsusal speed, a man 38. In a mixture of 80 litres of a liguid and

it 12 minitites kite for hir office. What is water, 25% of the mixture is the liguid.
the uspal time taken by him to cover How much water should be added to
S rELS X Sl the mixture so that the liquid becomes

20% of the mixture?
fa) 48 mimates

fa) 15 litres
{bj B0 minutes
&) 20 litres
fe) 54 minutes
fci 24 litres
{d) 60 minutes
! (dj 25 litres

36. The cosat price of 10 mangoes iz equal to
the eelling price of 830 mangoes. What is

39. If 20 persons can clean 20 floors in
the profit percentage?

20 days, then in how many days can
16 persons clean 16 flaors?

fo) 16%
25 days
(B 20% {ex} v
24 d
(c) 24% o) e
@ 25% fcj 20 days
fd} 16 days
37. X sells his goods 25% chesper than ¥ :
and 25% dearer than 2. How much
' percentage is £'s goods cheaper than ¥'7 4. Let the work done by {(x-1) men in
{(x+1] days be . Let the work done
fa) 1_?_9% by [x+2) men in [x-1 days be =z
3 If y:z=9:10, then what iz the value
of x?
b} 40% faj 8
g
fel 50% L
fef 10
200
Bf
ks ) 12
XVWE-T-MTK/50A 15 [P.T.O.
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41. What is logyn 3125 equal to?

(@ 3-5log,?2
fC} 5- Elﬂgm 2

{d} 5-3log,2

42. What is the zquare root of 15-4/147%

fa) 242 -J7
fhi 342 —2J7
fo) 15 -7

fdi 5 -3

43, The =um of the

reciprocals of two

alternate natural numbers is —2'1- What

is the sum of the numbers?

fat 12
B 13
fc) 14
() 16

44. If n is any natural number, then 57 — |
is always divisible by how many natural

numbers?
fa] One
ft} Four
fel Six

{d) Eight

XNVWE-T-MTEK/B0A
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456. What is the

45. If 53 = 8, then what iz x equal ta?

(a) ﬁ
) Wiai
(c) 1—1-:110 5
" 1—1;,,]2

least value of

3sin?6 +4ces?0?
fa) 5
b 4
fc) 3

fd} 2

47, If sinfcosf =k, where 050< g then

which one of the following is correct?

fa) O0=k<1
i) O0<k=0-5only
fcf 05<k=1only

fd) O=k<l

[ P.T.O.
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4B, If p=sin?d+cos’ 9 for Dsﬂgg then

I

congider the following statements :

1. pcan be legs than %.

2. p can be more than 1.

Which of the above statements isfare
correcte

fa)] 1 only

fb) 2 omnly

fci Both 1 and 2
{cf] Neither 1 nor 2

49. What is the ratic of the greatest to
the smallest value of 2 — 2&in x — sin? 5

0<x% -;_?
fa) -3 .
) -1
fc) 1
fdi 3
80. if the equation x? +y° -Zxysin® 6 =0
contains real solution for x and g then
) x=y
(B} x=-y
e x=2y

4} 2x=y

XVWE-T-MTK/S50A
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%1. Consider the following inequalities :
1. sinl’<coa57?

2. cogb(P=>sind7

Which of the above isfare correct?

faj 1 cnly
{b) 2 enly
fel Both 1 and 2
{dl HNeither 1 nor 2
B2, If p=sect-tan® and g =cosecd +coth,
then what is 2+ gp— 1] equal to?
fo} -1
B} G
o) 1
fdi 2

53. If coseck —cotf = m, then what is cosecd
equal to?

fet m+—1
i

b} m-

3 [~

fet

S IE
+
2w

fd} §+

[
3=

[ P.T.0.
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94, Let ABC be a triangle right angled at C
then what is tan A + tan B equal to?

d
e
p
a
® 5
fc} L
c2
2
c
L e

55, Let cosc +cosp=2 and sino +sinfi=0,
where O<a =90°, 0<p < 90°. What i=
the value of cosa —coa2B?

faj ©
b1
fcg 2

fti] Cammcot be determined duoe to
insufficient data

56. If sect +cosd = g where 0'< & < 9(F, then

what is the value of sin? &7

(e}
i ()

fc}

= Bt Bile B

id)
57. What i3 (l+coth — cosectj(l + tanb + sech}

ecqual to?

fa 4

b 3

fol 2

fdi 1

XVWS-T-MTK/B0A 21
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28. If6+ 8tand =gech and 8— 6tan® = ksech,
then what is the value of k27

fay 11
(b) 22
fc} 7T

{dp 99

59. A pole on the ground leanzs at 60" with
the verticel. At a peint x meire away
from the base of the pole on the pround,
two halves of the pole subtend the same
angle. If the pole and the peint are in
the same wvertical plane, then what is
the length of the pola?

{a) 2 x metre
) 3 x metre
fol  2x metre
{d) 2.2 x metre

6. A vertical tower standing at the corner of
a rectangular field subtends angles of
60" and 45° at the fwo nearer commers.
If b is the angie that the tower subtends

at the farthest corner, then what is
cotl equal to?

fe}

| u [T

B 2

fc)

ale

d}

i+

[P.T.0.
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61. A vone and a hemisphere have egual

bases and equal velumes. What is the
tatip of the height of the conme to the
radius of the hemisphere?

fa) 1:1
fiy 2:1
foj 3:2
[dl 4:3

62, A solid sphere of dismeter G0 mm is

melted to siretch into a wire of length
144 cm. What is the diameter of the

wire?

fzji -5 cm
(Bl 1 cm
fct 1-5 cm
fd! 2 em

63. The ratio of the radius of base to the

height of a cylinder is 2: 3. If the volume
of the cylinder is 1617 em 3, then what
is the curved surface area of the

cylinder? (Take 1 = %}

fal 243 em
fbi 385 cm
¢} 462 cm
{d) 770 cm

64. The difference between the ontzide and

the inside surface area of a cylindrical
pipe 14 cm long is 44 cm?. The pips is
made of 69 cm? of metal. R is the
cuter radius and r ia the inner radius of
the pipe, then what iz (B + 7] equal to?

65. A metal solid cube of edge 24 cm is

melted and made into three small
cubes. If the edges of two small cubes
are 12 cm and 16 cm, then what is the
surface area of the third amall eube?

fa} 1200 cm?
(b} 1800 cm?
fc) 2400 cm?

{d} 3600 cm?

a6. A conical vessel whose internal radius is

5 cm and height 24 cm is full of water.
The water iz ernptied inta a cylindrieal
vessel with internal radius 10 cm. What
iz the height to which the water riges?
faj 1 cm

B} 2 ecm

fc] 3 em

fdj 4 cm

67. A metal solid cube of side 22 cm is

melted to make a cone of height 21 cm.
What is the radius of the base of the

coner (Take 7 = %}

11
Tkl 7t 2 %] foa} CIn
o s (B 165 cm
{B] 75 cm fcl 22 cm
fc} 6 cm
{d} 43 cm {&} 275 cm
NVWS-T-MTE/50A 23 | B.T.O.
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68 A cone of height 24 cm hes a corved 71l. A cloth of 3 m width i3 used toe make

surface area 550 cm?. What is the a conical tent 12 m in diameter with
ratio of its radine to slant height? a slant height of 7 m. What is the lenpth
(Teke 7 = %} of the cloth? (Take 7 — %}
5 21 m
a) - {1}
&) 28 m
5 el 44 m
m = fc)
ilcEl fd] 66 m
{c) X, T2. A sphere of dismeter 6 cm is dropped
25 into a cylindrical vessel partly fillad with
7 water. The radius of the vessel is 6§ cm.
ia) 27 If the sphere is completely submerged

in water, then by how much will the

i gurface level of water be rajsed?
69. A rectangular paper iz 44 cm long and

22 cm wide. Let x be the volume of the Lot
largest cylinder formed by rolling the {5 1 cm
paper along its length and y be the fcd 15 cm
volume of the largeat cylinder formed by & 2
rolling the paper slong its width. What faj =
iz the ratio of x to 7 (Take f= %} T3. A sector is cut from a citele of radms
21 cm, If the length of the arc of the
fay 1:1 gector is 55 ¢m, then what is the area
@ 2:1 of tha zector?
(@) 5775 cm?
fe) 1:2
@ 3:2 ) 5125 em?
4 L fej 7055 em*?
70. A hollow spherical shell is made up of {d} 7255 cm?
: a metal of density 3 g /cm®, If the
internal and external radii are 5 em and Td. A wire is in the form of a circle of radius
6 cm respectively, then what is the mass ?Dhcm, If it is bent‘ 1n ﬂf"’ form of
oljthe =HEUP (Daltaia = E} ar umbu;,zthl:n what is its gide length?
7 (Take r = T
1144
o E {@ 55 cm
& 1024 g ®) 75 cm
fcj 8B40 g fcj 95 cm
fd) 570 g {dl 110 cm
VWS-T-MTHE/SDA 25 [ B.T.O.
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76. I the perimeter of a semicircular park #8. Twoa isosceles triangles have equal

is 360 m, then what iz iis area? vertical angles and their areas are in the
{Take =%} ratio 4.84:5.-29. What is the ratie of
7 their corresponding heights?

2
fa} 3850 m (@) 11:23
b} 7700 m?
b {B 23:25
fej 11550 m?

fo) 22:23
{dl 15400 m?2
A fd} 434:52%

76. In a trapezium ABCD, AB is paraliel

e, di al
to The diagonals AC and BD 79, ABCis a triangle right angled at Aand AD

- int tat P.ITAP: PC=4; - 4] and . i
B;Tf;;z 1 B thzlxwhﬁ i is perpendicular to BC If BD =8 cm
§ : : and DC=12.-5 cm, then what is AD
the vaine of x 7
equal to?
faj 4
f@) 75 cm
(b} 3 b} &5 em
ic} 3 fg 9 om
2
) 10 cm
{d) 2

80. The surface area of a cube is 2gual to
that of a sphere. If x is the volume of the
cube and yis the volume of the sphere,
then whai is :c:g'.;‘.p2 equal to?

77. AABC is similar te ADEF. The peritneters
N of AABC and ADEF are 40 cm and
30 em respectively. What is the ratio of

(BC + CA) to {EF + FO) equal 107

{2 m:6
fl 5.4
) 4:3 il Bl
o 3:2 fcj m:3
@ 2:1 {dl d:m
XVWS-T-MTK/S0A 27 [ P.T.O.
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Bl. The sides of a right-angled triangle are in

the ratic x:[x - 1j: (x - 18). What is the
perimeter of the triangle?

fa) 258 units
fb) 42 unita
fci 56 umnits

fd} B4 units

82. ABC i3 a triangle right angled at B Let

M and N be two points on AR such that
AM = MN=NB Let P and Q be two
peints on AC such that PM is parallel
te ON and QN is parallel to OB If
BC =12 cm, then what iz [PM+QN)

E4. An equilateral triangle ABC and a scalene

triangle DHC are inscribed in a cirele on
same side of the arc. What i8 ZBOC
ggual to?

fa) 307

B} 45°

fcl 60"

fdf S0°

B5. The sides of a triangle ADBC are 4 cm,

6 cm and 8 cm, With the vertices of
the triangle as cenires, three circles
are drawn each touching the other two
externally. What is the sum of the radii

equal to? of the three circles?
fa) 10 cm fa} & cm
P 11 em (B} 7 cm
)] 9 cm
fel 12 cm i}
; 86. Lat PAB be a secant to a cirele

83. AB and CP are the diameters of a circle

which intersect at P. Join AC CE, ED

= and DA If ZPAD = 6{°, then what iz
ZBPN equal to?

intersecting the cirele at A and B Let PT
be the tangent esepment. If PA=9 cm
and PF=12 ecm, then what i8 AB

equal to?
faf 30° f@} 5 cm
) 60° {b} 6 cm
fej 90° fc) 7 em
faf 120° {di 9 cm

XVWS-T-MTK/504A 29

[ P.T.0.
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B7Y. If the perimeter of a ripht-angled triangle B9. ABCD iz a traperium in which AR is
iz 20 cm and the hypotenuse is 13 cm, parallel to DO and 248 =30C. The
then what is the ares of the triangle? diagonals AC and BD intersect at O
What is the ratio of the area of AAOR

to that of ADOC?

{a) 24 em?2
fap 2:1
(B} 27 em?
b 3:2
fc) 30 em?
. fc) 4:1
fdl 36 em?
fd 9:4
B8. ABC is a trianple ripght anpled at & Let | .
p be the length of the perpendicular 90, A vircle touches all the four sides of
drawn from Con AB If BC=6 cm and a quadrilateral ABCD. If AB=19 cm,
CA = 8em, then what is the value of p 7 BC=8cm and C0 =12 cm, then what

i= DA equal to?

r "
i & i fal 14 cm
]
Wl Accan, M 13 em
fc} 48 cm fef 12 em
{d) 42 em {d 11 cm
XVWS-T-MTK /504 31 [P.T.0.
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91. Conaider the following deta with regard 93. What is the median of the following data?
te production of cars [in lakhs) :

Year 2015 | Year 2016 2,3-1,2,6,879
Courtry - A as 38
Country B 45 47
| faj 2
Country € 88 oS
Country 5 75 79
fbj 3
Country E 58 6509
In which of the couniries, the e 4

production of cars has increased by
more than or equal to 5% in 2016

. over 20157 e =
el Band E
' B A C and D only 84, What i3 the arithmetic mean of the first

ten composite numbers?
fef A, C Dand E

{d) A, D and E only fa) 85
92. The following table shows the tmarks of b 95
S0 students in a test of 80 marks :
Marks Number of students | fc) 102
1-10 S
11-20 g _ (@ 112
21-30 T
231-40 L | | .
41-50 - | 95, The marks obtained by 5 students are
t 51-60 A7 L 21, 27, 16, 26, 32, Later on 5 grace
51-70 12 marke are added to each student. What
. = 1-80 z | are the average marks of the revised
5 marke of the students?

The percentape of students who have
obtained less than or equal to 50%

26
marks is @)
far 30% fbj 30
40%,
& fep 31
fc]  45%
fdi 60% fd) 32
WS- T-MTK/S50A 33 [T,
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96. Let p be the mean of m ohservations and
g be the mean of r observations, where
p =g If the combined mean of im +nj
abservations is ¢, then which one of the
following iz correct?

fat csp

th) exgq

fc! pscsqy

fd} g<c=p

Directions :

For the

next

four

(4

items,

coneider

the following data with regard to different types
(I, IL, III, ¥, ¥] of multivitamin tablets produced
in A company (in lakhs) :

Year | 1 1 o oL | v
2000 | 160 | 80 | 70 | 90 | 75
2001 | 200 | 150 | 85 | 160 | 100
2002 | 135 | 35 | 44 | 95 | =85
| 2003 | 240 | 95 | 120 | 80 | 120
12004 | 180 | 110 [ 85 [ o5 | 115
L2005 | 210 [ 150 | 100 | 92 | 110

97. Which product is produced least over the

years 2000-20057

fal Type O

) Type I

fc) Type IV

fd} Type V
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98. In which one of the following pairs of

years, the difference in total number
of tablets produced between them ia

minimum?
{a) [2003,
{bf (2001,
fef (2003,

{dj (2000,

2005)
2005)
2004)

2002)

98. The mtio of percentage drop in total

prodoction in 2004 compared to 2001
te that in 2000 compared to 2001, is
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160. In which year, the production of Type I is

more than the sum of the production of

Type NI and Tvpe IV?

faj 2001
) 2002
fe) 2003

{dl 2004
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